

$$\frac{C \cdot \Delta V}{C \cdot \Delta T} = \left[\frac{1}{f} = L \cdot \Delta T \right]$$

$$\log_{1/r}^V + \log_{1/r}^{\Delta} = \frac{1}{\log_V^V + \log_V^{\Delta}} + \frac{1}{\log_{\Delta}^V + \log_{\Delta}^{\Delta}} = \frac{1}{r_{1/r} + 1} + \frac{1}{r_{1/r} + r_{\Delta}}$$

$$C.g \Delta_r = \frac{C.g \Delta_r}{C.g r_y} = \frac{1,2}{1,7} = \frac{12}{17} \quad \checkmark$$

$$\log_{12}^r + \log_{12}^r = \frac{1}{\log_r^{12}} + \frac{1}{\log_r^{12}} = \frac{1}{\log_r^{\Delta} + \log_r^r} + \frac{1}{\log_r^{\Delta} + \log_r^r}$$

$$= \frac{1}{1 + 1,2} + \frac{1}{\frac{3,6}{1,4} + 1,4} = \frac{1}{2,2} + \frac{1}{2} = \frac{4,2}{1,1} \checkmark$$

$$(-g^r_f + C g^r_f = 1 + \frac{C g^r_f}{r} = 1 + \frac{r}{f} (m-1) \checkmark = \frac{r m + r}{f} \text{! دقت!}$$

$$2x^2 + 4x - 1 = 0$$

$$\frac{-4 \pm \sqrt{16}}{2} = \frac{-4 \pm 4}{2}$$

$$\Rightarrow \log_{10} 10^{ax+1} = \log_{10} 10^x = x$$

$\frac{y}{x}$ ✓

$$1 + \alpha = 1 + \log^w_v = \log^y_v + \log^w_v = \log^y_v$$

$$\frac{y}{x} \hookrightarrow \frac{y}{y} = \frac{xy}{x} = \frac{b}{a} \Rightarrow \boxed{b = xy} \checkmark$$

$$\log(1.2 - 1) = \log 1.2 = 0.2 \checkmark$$

$$C_{gr} = -\frac{b}{rc} \Rightarrow \frac{b}{c} = \frac{1}{C_{gr}} \Rightarrow \frac{b}{c} = C_{gr}^{-1}$$

$$\frac{b+c}{r} = a \Rightarrow b+c = ra \Rightarrow b = c - ra \Rightarrow \frac{b}{c} = 1 - \frac{ra}{c}$$

$$\frac{-4u}{c} = \log \frac{\Delta}{14} \Rightarrow \frac{u}{c} = \log \frac{14}{\Delta} \Rightarrow \frac{c}{u} = \log \frac{\Delta}{14}$$

$$\Rightarrow \frac{C}{a} = \frac{1}{n} \times (C \cdot g_Y^{\Delta} - W) \Rightarrow \left(\left(Y^{\frac{1}{n}} \right)^{\frac{1}{n}} \right) C \cdot g_Y^{\Delta} - W = \frac{\partial^{-\frac{1}{Yr}}}{n^{-\frac{1}{Yr}}} = \frac{1}{\frac{1}{Yr}}$$

$$= \sqrt{\frac{\Delta}{S}}$$

$$a = \frac{b+c}{r} \rightarrow b = ra - c$$

-1.

$$\frac{1}{n_1 + n_2} = \frac{1}{S} = \frac{ra}{b} = \frac{ra}{ra-c} = \lg r = \cancel{r} \lg r \rightarrow \frac{ra}{ra-c} = \lg r$$

معلوم، $\frac{ra-c}{ra} = \lg_r^{1.0} \rightarrow 1 - \lg_r^{1.0} = \frac{c}{ra} \rightarrow r - \lg_r^{1.0} = \frac{c}{a}$

$$\left(r^{-\frac{1}{r}}\right)^{\frac{c}{a}} = \left(r^{\frac{c}{a}}\right)^{-\frac{1}{r}} = \left(r^{r - \lg_r^{1.0}}\right)^{-\frac{1}{r}} = \left(\frac{r}{1.0}\right)^{-\frac{1}{r}} = \omega^{\frac{1}{r}} = \boxed{\sqrt[r]{\omega}}$$